(mex) BHIRFAEL
o8 pma

96 FFR gy

LEFHBL_ER - 245K
o T Y 3

BEELREXA

| B #®% | B

F2EHEHA

i

\-

FEAGEMR

10

15

20

25%

30

GAA s AT ¥ )

LW (BESAH R 104 &%

0 0 N kWD

—
o

= Pwﬁfé;'ﬁ‘*-\%ﬁgg

A B A& ( Type A personality )
BEEEFFHE (Machiavellianism )
HEEHE /A (escalation of commitment )
TEEER R R P
BB, (first-mover advantage )
1E358 ¢ positive reinforcement )
M EUHEREGET (M-form design)
5 (chain of command )
TYESHT (job analysis )

. ZKl5% (two-factor theory )

(leader-member exchange th

(#3588 43509)

50 %)

eory )

1 (1) B2 At ? 36 H B PRRIAH PR R BN ER 2 A ?
RTEER LA RBIMER Z AL 7

() MFRSFAER 2t ? It BRSO RN IEHR S Ak ?
RMERRILERBNIER AL ?

(10%)

2. SR REQEEENER

TRBIRR AT R E] - DIRFERZKRER ?

(20%)

3. &L R

FEPRAIERIER > Hil

2008 T LEALHT B DN T RIF T
FEFIERT (2007 7 A) LEHEE - 1 - ADEE - TR WEBEDEE

RUAESLEE 30 ZHMH » Hrfr20

FAMAERGACHE - 5 FIEHIT 5 RIEG - RIRFTG I AEH »
itﬁﬁﬁﬁ?“ TG ARERAEE RAIGE - AR

ST e T 2 8
(20%)

Hedestangichi RIS

DR ENSIEE R e s

110

115

120 -



wrxy) BIifFEAL g FFRE 21 EBLFIAXR

LE(FES2L - BROEEA

R LR e e A LN
| KAFTHERAE LU M :
a1 15

Economics

n Essay questions (5% ) : Please answer following questions specifically. Each ]
question counts 10 points. Total points are 100 points. There are 10 essay questions in

this examination. No calculation is needed in this examination. You could answer the

| question with either Chinese or English. 1

N 1. Suppose the current price of gasoline is $1.50 and the government passes a law that 7
requires the price to be no more than $1 a gallon. What will be the effects?

2. Explain what market failure is. How does market failure relate to the price system? -
How does market failure relate to the role of government?

3. How are inflation and the purchasing power of money related?

sk 4. What is value added and how is it refated to GDP? 115

5. Suppose aggregate demand is increasing over time. Would the Keynesian model
assume that the price level would always be constant? Explain.

R 6. Explain the role of financial intermediation. ' .

201 20
7. Explain the open economy effect of fiscal policy.

8. Explain the kinked demand curve and the criticism of it.

- 9, What factors generate economies of scale?

95 125

10. Suppose the economy has been experiencing zero inflation and 5 percent

1

unemployment for several years. The government decides to lower the
» unemployment by generating some inflation. Using a graph, show what the .
short-run effects would be and what would happen in the long run. What would
the government have to do to keep the unemployment rate at 3 percent?
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. REZEAKRBSZE  ABERA—RARTHORT - RERER - R
—EH RMAEHNS  ANBAAKRTA - LELBRYE T—HEAS
DAFARS—FEE ABBRL T SEAFRHK - EHFFLT
BREOANSARE  REMRESHOREERL -FTHE THMTS
B ARBARBAZHTEHSTEE RN THEAMRL—RTR -
HE LW GNP R s 2(1) 5400 T > Q) 6 KL - (3) S4 KT - (4) 60
¥ 7 - (5)54000 7T -

BRE— AMARME Y=CH > # §F C=100+0.8(Y-T) - £ FH =40
BOR % H 3R G=50 M3 T=50 FRENH NHHARAFY BT (1) 1050
(2) 850 - (3) 1250 * (4) 450 - (5) 250 -

W — 8 BRATREMFARTES 1200 LR TRRERS D 7D
15- (2)12° 3) 10 ) 5-(5)2-

WAk L — 8 LB T AN 7 (1) BT 15-2) BIRET 30-(3) B
BRéR T2 45 0 (4) FéEH 0 150 (5) FHEST 30 -

. BEFINAF-CABAVPIHHENREN KRBT ¢ B Y=CtHG;

Y=C+S+T ; £ ¥ C=50+0.75(Y-T) ; I=100 ; G=60 ; T=60 ; R| & AT H i
T & BRATAR(Y-T)S © (1) 150 < (2) 400 - (3) 600 - (4) 800 - (5) 360 -
REEANATEH  FREEFLH REARMEER  EFRBEITRE
HERANBEA 10 ARL 200 MEARERGAABREFEXHESR
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GHHRL  SEABRRX - OFER - MR - OHEXIAR
HWANER -
LHRAEATEE S E% - & 15,000 oA 10,000 40 MENGEAME
—Be¥mB2Ee - AR ERBEAM : (1)0.60 - (2)0.50 - (3)2.00 -
(4)1.50 » (5)1.67 »
FEEURAR LSBT RABRERFRY > BEHHERE - K
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FR&EAE RS (DS MARRER AT L B2 R AT E&WHE
EHMGBR I MAARB2S  SHBEHNLAERE TR  QF AR
REZAG LM £H2H HTEOHREF RS THA - LHRZA
Bl SHRENRERRR -QERAHEARATOAINR
£V AARREGRBHERZT  SEHAELEGLEA - OXERTH
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16. THAIMMEMTEEA  (DRARACBLETRE TEREHHE  ARNEART
BEFRT - QX 2RAE: 4 CHAETHBIREREEZL » BAR
S EH QML BRPFARAT  ROBAZSBBA TS5 bR
T WETFHALE"AESR ) LEAL T BARERK - BB AZT
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IBMRLE+RERERT T ERASLHME TR A2 SR IHAE
XA  RX4R5 WHE2E5 PRAL2R) - F XA HBHL
AP BRHBFA(FHI RO EEREAE RS URBS R ERGBE
PRRBESE) B REESHE LEEG—R > BHOSREHNE D >
EH R E R Tr RS ARSI 4R - pRRERBERG ARG
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19. X B K 2005 £ B RAT AR HobHo T (R - 3 4% H4E ) & o (Xd)A 801
RoMDA 783 B AATR(FESENFN)EL 699 & X RM A FECR
ELBING)A M9 REABRXEA 768 HAERIBA 237 254
BAATABHE A 2(HATLAABRANRBM SRS 3 0 FRUERA I
RERSL 5 ANFEABELHEASM BRNEABASE 5384 QT
338 (1) GDP=1538 - (2) GDP=1527 - (3) GNP=1523 - (4) GNP=1803 - (5)

(HER)
R igme BECEERIER R
' AEFERE R R j

10

15

20

25



wex) BIREFRE g FFR py FEBLELRARA

£ B égéﬁ}% # 3% Ja

ARtEXER=4%4

AFHZRE LA FH

10

15

20

25

(R sb R B F B4 i A8)

20.

21.

22.

23.

24.

25.

GNP=2025 -

Bl LA& - RT3 ¢ (1) NNP=1527 = (2) NNP =1525 - (3) NI =1523 - (4) NI
=1405 - (5) NI =1146 -
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L% :

Rkt bk ¥ies  EMEAENSAFH - RAEBBB 0B LR
ARL XMARTEEF NIRRT > TEFEABRFLEH B
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240 LG ARER BT R4 270 LG 0 BB R T
=B BT B 300 48L& Brdk R T AF - BB R T SR 360 48y
Lo - wREARLEVHLE SAKBERLREYA6% HARAEE
(D RF - @) /A Q) Bk @) k- ) s ARHRSHK -
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Multiple choice 100%  (2.5% for each question)

1.

—fmE > $BESLE (MNEs) 424 A

() AarsnBEiRBEZLE

Q) £FEXSEARRFLEAZHZLE

) £REALF B HEE

@ RABRAEMARAZEBE T K
BoE (UN) BARAGFRY  REHTHAF?

MHRGABLFLE
Gy RELTHE

W DL A RERETHEGRE

QB EHRELENER
BHReEHEFEFHRR

D AEHERPEIHESE - HERFIPIAHIHTHE
D AERSHMBHTE RERFIIEHER

) ARBHFIERRELER
@ ARBEFIIERRAEE

THH-EHAAREE—AATAREE LA BRARGRERRZEBHER?
(2) #% €% # (Social potential)
4 T4 B H (Vertical potential)

() AR S (Vertical mobility)
(3) & #4 % (Social mobility)

Hofstede # % 7 &
(1) # /1368 (power distance)

Q) £8x 8@ AL R (individualism vs. collectivism)

(3) M@ A= E 4 (uncertainty avoidance)

(4) Hebh 4 R g 45 B, (masculinity vs. femininity)

HIEBCHXICBRLE -
(1) #825 ¥ = £ & (ethnocentrism)
(3) % =¥ £ & (polycentrism)

(2) ¥+ ¥ & (geocentrism)
() #g e &k (sociocentrism)

FFH e a3 Friedman 8 TR #4E , iR

(1) s AR — by Kok -

QtBECENFAZABREIAAR N ACATEZ T2 -
G)AAAET FEAOERT  CENRTFEARS T HWwHH -
D ZERERARORGFAEAIAMEBAR  FEIL LT AL -

16 E 17 # fatf -
(1) #8% P~ £ & (ethnocentrism)
) &8 x £ (collectivism)

IRAEBAEUAREHEohBELED -

(2) B4 X # (capitalism)
(4)y W E £ (mercantilism)
F1R

BEEE AL MEZRAMNEGAERCERILAORESE 7
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9. R#EZ A BB (Ricardo’s theory) » FHTH B A ?

B (WABRBRHLBRFENGBELSE FRULHRENES - 4
@ EhaIHRH 2RAMEFEIHRES -

O BURBRERBAFBHABHAER  ReY HRAHAHNLEN & -

B G EHEESER  —ARH > HF-BLHFRL - .

10, BIEAERASES (PLC) BARNMMST  ABHK:
D BESE—EES -
Q) hERLSGEE BEDH ‘ : N
i ) hALHDEBAEDIHE -
OFT P53l PE £
10

11 RTHRN THM&, BRI EEE? |
(1) B RBA T YRS -
Q) e ARBREALERE B BAREMEERET RO RRELE - “
B @) B AR RABALE - ]
@ HHPRRARGE FA > EFHARRRE '
15 12, 2HBABNAARLETHES  ® ¥ RIARE SONTHT S i BERA_
(1) #5488 %2 & (ad valorem content requirement.) LS
B () B agE L (international content requirement.)
(3) 45 B ¥ & & (specific content requirement.)
(4) A P £ K (local content requirement.)

13. involves the establishment of a wholly new operation in a foreign country.
- (1) lcensing (2) greenfield investment. B

(3) horizontal FDI (4) vertical FDI

14. is expected to see the largest percent increase in FDI flows in the next decade.
5 (1) South Korea (2) India
(3) US (4) China

15. When brand loyalty, customer relationships, or distribution systems are important,
investments are appropriate.

- (1) merger and acquisition (2) greenfield _
3) portfo'lio (4) new construction

"

5 ] 25
16. is more expensive and more risky than
] (1) exporting, licensing (2) licensing, FDI

(3) exporting, FDI (4) FDI, licensing

%28 B
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17.  According to , FDI will be preferred whenever there are impediments that make both
exporting and the sale of know-how difficult and/or expensive.
(1) internalization theory (2) internationalization theory

(3) perfect markets theory (4) small markets theory

18. John Dunning’s eclectic paradigm argues that

(1) the firms that pioneer a product in their home markets undertake ¥DI to produce a product for
consumption in a foreign market

(2) when a firm that is part of an oligopolistic industry expands into a foreign market, other firms in
the indusiry will be compelled to make similar investments

(3) combining location-specific assets or resource endowments and the firm’s own unique assets
often requires FDI

(4) impediments to the sale of know-how increase the profitability of FDI relative to licensing

19.  According to the view, the MNE is seen as an instrument for dispersing the production of
goods and services to those locations around the globe where they can be produced most efficiently.
(1) radical (2) free market
(3) capitalist (4) pragmatic nationalism

20. 'When technology is complex and making the technology operational requires substantial hands-on

experience, ____ is usually preferred.
(1) exporting (2) franchising
(3) licensing 4) FDI
21, A occurs when a country imports more goods, services, and income than it exports,
(1) debit account surplus (2) current account surplus
(3) debit account deficit (4) current account deficit

22 In the last decade of the 20™ century, many countries moved toward
(1) free market objectives and pragmatic nationalism
(2) the radical view and pragmatic nationalism
(3) the radical view and free market objectives

(4) free market objectives and closed investment

23.  Which of the following three countries implemented the North American Free Trade Agreement -

(1) Panama, Mexico, and the United States.
(2) Canada, Brazil, and the United States.
(3) United States, Argentina, and Mexico.
(4) Canada, Mexico, and the United States.

24. Twenty-one Pacific Rim countries including the NAFTA couittries, Japan, and China have been
discussing a pan-Pacific free trade arca under the auspices of :
(1) NAFTA (2) MERCOSUR (3) APEC (4 FTAA
%37 '
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25.  Which of the following selections accurately depicts the levels of economic integration from least
_ integrated to most integrated? .
(1) Common market, economic union, full political union, free trade area, and customs union
51 (2) Common market, economic union, full political union, free trade area, and customs union
| (3) Free trade area, customs union, common market, econormic union, and full political union i

(4) Full political union, free trade area, common market, customs union, and economic union

26. Ina___,no discriminatory tariffs, quotas, subsidies, or administrative impediments are allowed to
B distort trade between member nations. Each country, however, is allowed to determine its own trade
policies with regard to nonmembers.

(1) common market (2) economic union

1ot (3) political union (4) free trade area 10

27. Which of the following is true of a common market? -
(1) ali barriers to the trade of goods and services among member countries are removed and each
country maintains its own policy towards nonmember countries
(2) involves the free flow of products between member countries and the adoption of a common ]
external trade policy
L (3) has no barriers to trade between member countries, includes a common external trade policy, and
aflows factors of production to move freely between members

151 15

(4) climinates trade barriers between member countries and adopts a common external trade policy

% 28. The is the ultimate controlling authority within the EU. i
u (1) Ministry of Trade : (2) European Parliament {
(3) Council of the European Union (4) Court of Justice

29. Benefits of the euro include all of the following except
[ (1) businesses and individuals will realize significant savings from having to handle one currency,

20 rather than many a0

i

(2) it will make it more difficult to compare prices across Europe
o (3) European producers will have to find a way to reduce production costs to maintain their profit

7 (4) it should give a strong boost to the development of a highly liquid pan-European capital market

30. According to Purchasing Power Parity, a country with inflation will see its currency
(1) high, appreciate (2) high, depreciate
B (3) low, stabilize (4) stabilize, appreciate o

a5l 31. If the expected rate of inflation in Germany is greater than that of in Japan, Germany’s nominal interest J95
rate will be :

B (1) about the same as Japanese nominal interest rates
(2) lower than Japanese nominal interest rates

(3) higher than Japanese nominal interest rates

B (4) what PPP would predict . 7]
B4R _
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32. A means the value of the currency is fixed relative to a reference currency.
- (1) pegged exchange rate (2) dynamic exchange rate
5 (3) floating exchange rate (4) static exchange rate
- 33. The formed the framework for the post World War I international monetary system.
(1) Gold Standard (2) Bretton Woods Agreement
i " (3) IMF (4) World Bank
34.  All of the following decisions are typically centralized at a firm's headquarters except:
B (1) human resource management (2) major financial expenditures
0F (3) overall firm strategy (4) financial objectives
B 35. The emphasis on local respensiveness in firms pursuing a local responsiveness strategy creates strong
pressures for operating decisions to foreign subsidiaries.
(1) integrating (2) centralizing (3) consolidating (4) decentralizing
36. Initially, a firm’s international divisions tends to be organized on
" {1) product (2)- geography (3) people (4) research and development
15F .
37. A_ccoumability is a problem in MNEs with the structure.
[ (1) worldwide product division (2) worldwide area
B - (3) international (4) global matrix
B 38. The main types of control systems used in MNEs include all of the following except
(1) personal controls (2) burcaucratic controls
(3) input controls (4) cultural controls
201
39. A grocery retailer such as Tesco might capitalize on the infrastructure of stores already in place by
i (1) exporting
B (2) establishing a joint venture with a local enterprise
(3) licensing
B (4) franchising to local companies
40. The extent to which the place of manufacturing influences product evaluations is known as
254 (1) source effects
(2) country of origin effects
i (3) noise effects
. (4) location effects
. ¥5%
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